
operate and improve upon the perfoEnanc€ of various

programmes including agriculture insurance.

Qu$tions :

(a) What measures will you suggest to govemment

in designing thc appropriate mechanisms for
providing fiDancial suppofi for agricultural
insurance in India ? 't

(b) As an insurance advisor suggest various
applications taken by insurance company to
imppve various developmental programmes for
successful implemeDtations of an agricultural

insumnce. 7

AQ-l3E4

M.B.A. (Semester-IV) Examination

INSURANCE MANAGEMENT

Prper-MBA/4106/CcF

Time : Three Hoursl [Maximum Marks : 70

Note :- ( I ) Aflempr ALL questions.

(2) Figures to the right indicate marks.

SECTION_A

l, (a) Discuss the fundamentals of insurance conEacts

with examples. 14

OR

(b) Describe in derail the impofiarce of insurance.

What are its uses to tle busifless community and

society as a whole ? 14

SECTION-B

2. (a) Describe the features of life insurance contract.
,l

(b) Consider a group of 5,000 persons all aged 45

s€eking ar amount of Its. 2,00,000 to t:eir families
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in case of death the trext 5 years.

Xl,dx

- 45 10,000 28

46 9,972 3t

47 9,941 34

48 9,907 38

49 9,869 42

50 9,827 4'.1

Calcula& the net single premium for the term

assurance if the insurer earns no interest. '7

,OR
(c) What is mortality table ? Explair how it is used

in calculation of premium ? 7

(d) The net premium ofan endowment assruarce of
Rs. 1,000 for a person aged 30 for a term of 25

years is Rs. 30.97. Calculate the office premiunr

making rhe following provisions :

(i) Initial expenses at Rs. 40 per Rs. 1,000 sum

assrued.

(ii) Renewal expenses at I 9/o of office premium.

of farmers and lalue of agicultural output is very

small, payment of indemnity based otlt area apProach

miss affected farmers outside the compensated area,

and mosr of the schemes ate not viable Expanding

the coverage of crop insua[ce u'ould therefore incur

govemment c.osts considerably. Unless the proglane

is restricted csefully to make it viable, the prospect

of its fiiture expansion to include and i.mpact more

famers are remote.

This requires renewed qfforts by Sovernment in

terms of desiSning sppropriate mechanisms and

providing fnancial suppofl for agripulturd iflsuralce'

Providing simitar help to pdvate sector insurers would

help in increasing insurance coverage and in improving

viability of insurance schemes over time. There is a

lot of interest in private sector to inv€st in general

insurance business. This opponudty can be used to

allot sbme target to various gerleral i$urance companies

to cover agri;ulture. To begin with, this rargei coutd

be equrl to th€ share of agriculture in national income'

Good governance is as important for various

dwelopmental programmes as for successful oPerations

of a! ag culture insurarce scheme. Poor govemaDce

adversely afiects 
'development activities. with the

improvement in govemance, it is feasible to effectively
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3

(iii) Constant expenses ofRs. 2.50 per Rs. 1,000
sun assued (given a* : 241 = 15.64). 7

(a) What factors drive the need for innovating and
developiog new insuance products ? Explain.

7

(b) Find the probability that 2 per8ons A and B aged
30 and 35 respectively that both die aftsr attaining
agc 60. Values given as per mortality table arc
ln = 980776,1rr = 973550 and I.o = 1640.

7

OR

(c) Explain the various rideE which asy bc commonly
attached to various types of ULIps. 7

(d) Calculate &e value ofan anticiparcd endowDent
assurance for a person aged 25 with the following
benelits :

(i) A suD of Rs. 1,000 pyable on survival at
the end of 2d year.

(ii) A sum of Rs. 2,000 payable on survival at
th€ end df 3rd year.

The rate of interest is 6 % and the values as per
thc mortality table are as follows : I,j -- 9g7095.

I, = 984580 and I,, - 983330. ?
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4 (a) Briefly explain the steps in 6ling and sertlement

of ltre claims. 7

(b) Amravati Municipal Corporation owns two Retail

malls located in city. What kind of insuranc.e would

you suggest to the mayor or the commissioner of

the corporation, for lhcir corporations T

OR

(c) Discuss the doctine of "Subrogation" in rElation

of fire insurance. 'l

(d) Mr. Singh has insured his hous€ for fire ftom

09.11.20t2 to 8.1l.2Ol3 He sent his renewal

cheque dated 8. I 1.201 3 by courier on to.I 1 20I 3.

It was ieceived by the insurance company on

14.11.2013, The lnsurance Company issued a

receipt on the same day with a condition'subject

to rcalization of cheque.' There was a fire on

9.ll.2Ol3 which destroyed Mr. Singh's house. ts

the Insurani:e Compary liable to pay the claim ?

Give reasons for your alswer. 1

sEcTroN---c

5. The various schemes launched ftom time to time in

the country for agriculture insurance have served very

Iimited purpose. The coverage irt terms ofarea, number
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